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69. Let r(x) = f(g(h(x))), where {1} = 2, g{
4 and f'(3) — 6. Find r'(1).

70. If g is a twice differentiable function and f(x) = xg(x?), find
f"interms of g, g', and g".

71.

If F(x) = f(3f (4f(x))), where f{{}} = & and f8§= 2,
find F'(0).

72. If F(x) = f(xf(xf(x))), wher
F42y==5, and f'(3) = 6, find F'(1
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46. If h(2) = 4 and A'(2) = -3, find
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[50] If f is a differentiable function, find an expression for the
derivative of each of the following functions.
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52. Find equations of the tangent lines to the curve
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that are parallel to the line x — 2y = 2. — d-a= 9\3
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56. (a) The curve y = | x|/\/2 — x? is called a bullet-nose curve.
Find an equation of the tangent line to this curve at the 2 T{; 1% O
point (1, 1) \d:
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(a) Write | x| = 4/x7 and use the Chain Rule to show that
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21 I f(x) + [ (0T = 10 and f(1) = 2, find £'(1).
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33-36 Find y" by implicit differentiation.
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At how many points does this curve have horizontal
tangents? Estimate the x-coordinates of these points.
(b) Find equations of the tangent lines at the points (0, 1)
and (0, 2).
(c) Find the exact x-coordinates of the points in part (a).

& (gly+) - -
H_ g0 Fedy= 22 - A= +dx
gj aJ J-(— s 1
M Py R =217— 3Tt A
J J _’t}ww \j.pula. e
G-ty ey
2 = 3a>-Cxto-
dt(qu_ga —ayQ)= 3at-bxt
- 817'“&1-&9_ ]
q(.j»c,f-a(jfa,
m=o ‘F“" ko2 ‘\""?“'i’

O= I -bxt2
T “.}K LLJ'5—L‘3"-—Q‘J+9—

o= 3(4-151)1-0-13)

L as LS 00 $=0M23

Hae M\\N{L'W

—Cxead

Deriv Page 5

N S R o
@ 5 - -2 ‘t Lbl\)
X:O
j—l ';m’}-‘&'—L
(= \loy+>
\ =}
! = "\i‘t\
= 2 — _
Ilwme T A
‘j 2 f'h (OJ'L)
»:w-\"i’kb
2=J§Lﬂ b
2 =b
= éi{g‘
@) 1= +b iJ 3% - 42D
9.&3)
<= Q k. S\-L {:——%
o
1= [ar_JS(e:



